



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{4}{6} - \frac{5}{9} =$$

$$\frac{4}{3} - \frac{1}{6} =$$

$$\frac{2}{4} - \frac{3}{8} =$$

$$\frac{5}{9} - \frac{2}{6} =$$

$$\frac{6}{7} - \frac{1}{3} =$$

$$\frac{5}{9} - \frac{3}{8} =$$

$$\frac{7}{6} - \frac{6}{8} =$$

$$\frac{3}{5} - \frac{4}{7} =$$

$$\frac{7}{8} - \frac{1}{8} =$$

$$\frac{4}{3} - \frac{5}{4} =$$

$$\frac{3}{6} - \frac{2}{9} =$$

$$\frac{2}{5} - \frac{1}{7} =$$

$$\frac{6}{5} - \frac{2}{6} =$$

$$\frac{6}{9} - \frac{3}{6} =$$

$$\frac{5}{2} - \frac{5}{6} =$$

$$\frac{5}{4} - \frac{6}{5} =$$

$$\frac{4}{7} - \frac{2}{8} =$$

$$\frac{5}{2} - \frac{6}{9} =$$

$$\frac{7}{4} - \frac{7}{9} =$$

$$\frac{7}{6} - \frac{4}{6} =$$



soustraction de fractions (fraction appropriée) (fraction impropre)

Nom: _____

Date: _____ Note: _____

$$\frac{4}{6} - \frac{5}{9} = \frac{1}{9}$$

$$\frac{4}{3} - \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{2}{4} - \frac{3}{8} = \frac{1}{8}$$

$$\frac{5}{9} - \frac{2}{6} = \frac{2}{9}$$

$$\frac{6}{7} - \frac{1}{3} = \frac{11}{21}$$

$$\frac{5}{9} - \frac{3}{8} = \frac{13}{72}$$

$$\frac{7}{6} - \frac{6}{8} = \frac{5}{12}$$

$$\frac{3}{5} - \frac{4}{7} = \frac{1}{35}$$

$$\frac{7}{8} - \frac{1}{8} = \frac{3}{4}$$

$$\frac{4}{3} - \frac{5}{4} = \frac{1}{12}$$

$$\frac{3}{6} - \frac{2}{9} = \frac{5}{18}$$

$$\frac{2}{5} - \frac{1}{7} = \frac{9}{35}$$

$$\frac{6}{5} - \frac{2}{6} = \frac{13}{15}$$

$$\frac{6}{9} - \frac{3}{6} = \frac{1}{6}$$

$$\frac{5}{2} - \frac{5}{6} = \frac{5}{3} = 1\frac{2}{3}$$

$$\frac{5}{4} - \frac{6}{5} = \frac{1}{20}$$

$$\frac{4}{7} - \frac{2}{8} = \frac{9}{28}$$

$$\frac{5}{2} - \frac{6}{9} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{7}{4} - \frac{7}{9} = \frac{35}{36}$$

$$\frac{7}{6} - \frac{4}{6} = \frac{1}{2}$$